HW SOL 1.5a

November 9, 2017

8:25 PM

Name:

Section 1.5 Absolute Value and Inverse of Quadratic Functions

Date:

1. Graph y= If(x)| for each function on the same grid:

a) b) c)
\/ | / i
y=f ()
a) ‘ %) f
= £(z) |
y=1(x)

2. Given each equation on the right, indicate which of the graphs on the right is the corresponding one:
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3. Graph each of the following functions on the grid provided. Get the Domain and Range, state the piece wise

function:

a) y=‘x2—4‘

l.{aingezi ‘3

Domain X £ 20

Piece Wise Function:
N 3 *<-2

VX — (L) ;eSS 2
K-y A2

y= ‘O.sz +3|

]E?{aing,;e:. ‘«B? 3

D(;main | (&R

Piece Wise Function:

\8:50,§ ’)(1‘\—-3 )C‘BR\

y=|(x-3)"~4

D(.)Ir.lain. %fa\ .
Piece Wise Function:

(%-33-4 ) x <

— (3T 5l € <8

Range: Lés;c'

(-3 -y NS

&

Domain ' Ra'nge:.

Piece Wise Function:

= (==vx -u\ j X< 3¥ s\,(

3—_ 22X —\> ) =\ <*S3*Sﬁ
\

|
’(zx‘-—'bx-'\a\ ; % = '3—\-'5@'
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3. Write the piecewise function that represents each absolute value function.

a) y=‘2x—4‘ b) y:_lx+]
y 2
; y
f =]
y 816 L Qi 2 i
- - 2 -
FRYBTR EoIRIINE <
wi=\ 2%xr \'?Ii B
) ,
L (4-4) TR B
—.n‘-— -
0 y=j-2x-3 d) y=[05(x+1) -3
! [ [ 1 T T
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[ a \ |
A @ \ 19 /
\ [ \ A1) [
\ ] it
VT VARSI S0V,
e | Y
g4 =2 0. 2. 141 18 BB NESIETIEA
) L 4 LY Z =1 o
- i P4
__4 e = /l
. What is the difference between the graphs of y = |3x + l| and y= —|3x+ l| .
M\ DN
5. What is the difference between the graphs of y = |3x + 1| and y= |3x + l| +4. _ _
4\ cShpre Y ons 2
veclex AVIEVEECEN
(’% t°\) (/% 1\0
6. The following points (3,5), (—3,—’?), (—2,8), (7,—10), and (—3, —9) are on the function y=f(x) .
What will the coordinates be on the function: y = |f (x)‘ ?
(s) —
(’3)’3‘) > (3 F‘% \\%’\q: N Gued DENWT Chane
(/2(‘53 > (2 “\ UM \A»A/V\?,é),wf%—\-ﬁ&
(’-})«\% ~ (3, “3
(3ra)— (=,2)
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7. Solve each of the following:

a) |x-3=x-4 b) [2x-3|=x+4
Loz = ™M X -3 = - (X"*B 2w -d>=%4N 24— = - burw)
A S A < = 28 = -
_ N = —\
e 45\(\"'\ 24 =+ / b B -\/
4
. TRUIWANMA
S NEN "4\0\
c) ‘x2+9‘=6x d) |2x2—x—6|=2x+1
=] = b w o R=-6% I w—lo =\ (20X -6 T 2\
2xfxx -S=0

L =R =9 X+ a 243w % NS TP T
\\

(L =33 (3D =P w=2+t 3+ o

x=—vx §oy
=3 S=-3 Y= nt i‘? S &
- \ -——\+m . '\ q\
v 4@5&@ — g (==)” s X3 <
%2368 $%3—\l%_ VA=<
k) ‘xz +9‘:6x 1) ‘sz—x—6‘22x+
C e ) C onanV %E'B
m) 12 =[x’ +3] n) [x* ~10x| =24
o _ ~ - Few =Y ox = -2
%y = - AR v :‘—\ox-v\=o Lo x 2N =0
K™= Q N N FORCN S ¢ xiu\u-q\——b
\
w=x3 <M R Lotn ) x=—2 Y=t , x=¢
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0) ‘l3x—x2‘= 30

3% —X"=20 \ DX — X‘--‘— —2>
o= X \3x+30

0 = (v— \O\L‘l’\‘b

6= \3x—3=>
6= (\L/l\’\(_ll—z)
s

.= \o =3

L=\ Y==Y.

P) x> —3x| =4
X—2w= X 3x= -4
hy -4 =D K BRAIK=D

(o002 3T

e e
S\

=\ \L:—-’\

8. Find all the value(s) of “x” for which the equation is true: |x| = |x+ 1|

) L‘X\;(q{-\—\) & K=’Q§*") 6"X’—'L\(“'\\ @)-X:(\L_‘,(\
oX | K= =\ —% = =\ 2w |
(s soli) == ¢ ==\ *==
5(:__«%_— C‘Nb ‘“\‘“3
v
9. If £(3)=-5and f(~5)=7, then whatis the value of | f (-5)|- /' (-5)?
0 fines @L)=2 ® —f’\(-f\ =3
(—5 \\g) (/Y\q’\
® H/W\l RS
=[3-
=y
10. Find the two valu/é(s] that will satisfy the equation: |x—l|+|x|+|x+l|=%
Worte: e Ao Wmus eand @" (\4’\\—&\a—(x+\\=§_ & — + ¥
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o oms) —xa\ A a = S (x)E xR :—i
6O x + & : -x 4= ’7/"'\“)‘/*\"'\@
® + 4+ - SV o =
G+ — + M Ay T

. .
%: -: i 7\:/‘»,«-\/\\ |21+ \'{\»\—{H\—_% =5
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11. Solve for “x” |x —9x+20‘—|l6 x \
Q *+

'K K‘,(_Lw—\h—x

2K+ —AX 4+ —O

2 — 4
\— —)
(7»(/\\( *-4)=0 ("\'\")
{ \L-,—l ~,L=\-l,| (3-
L Ut V& \[: LTmax + ‘Lall
1)t »\ T el & o j),%\ -
_S o - . = ( «—Y3) —o~T
)‘5( == =0 :)
\-‘

12. How many ordered pairs of integers (a,b) satisfy this equation? |a 2| X |b 3|

\o«Z\x\ ’Ba\\aL

<= — & \<\

. x 2 3
\ =~ -2 3 L —=0G))
—\ x 2 \ S —(w)

—\ < =2 \ |\ — (. Y
> (M)

13. The parabola with equation ¥ = ax” +hx+¢ and vertex (h,k) is reflected about the line y =k . This

results in the parabola with equation y=dx’ +cx+ f . What is the value of a+b+c+d +e+ f ?
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13. The parabola with equation y = az? + bz + ¢ and vertex (h, k) is reflected about
the line y = k. This results in the parabola with equation y = dz? + ex + f.
Which of the following equals a +b+c+d+e + f?

(A)20 (B)2 (C)2a+2 (D)2h (E)2k

19. A parabola with equation y = ax? 4 br + ¢ is reflected about the r-axis. The
parabola and its reflection are translated horizontally five units i opposite di-
rections to become the graphs of y = f(x) and y = g(x). respectively. Which of
the following describes the graph of y = (f + g)(x)?

(A) a parabola tangent to the r-axis

(B) a parabola not tangent to the x-axis (C) a horizontal line
(D) a non-horizontal line (E) the graph of a cubic function

19. A parabola with equation y = ax?® + bx + ¢ is reflected about the a-axis. The
parabola and its reflection are translated horizontally five units in opposite di-
rections to become the graphs of y = f(x) and y = g(x). respectively. Which of
the following describes the graph of y = (f + g)(x)?

(A) a parabola tangent to the r-axis
(B) a parabola not tangent to the r-axis (C) a horizontal line
(D) a non-horizontal line (E) the graph of a cubic function
13. The parabola with equation y = ax® +br+ ¢ and vertex (h. k) is reflected about

the line y = k. This results in the parabola with equation y = da® + ex + f.
Which of the following equals a +b+c¢+d+ e + f7

(A)20  (B)2 (C)2a+2b (D)2h (E)2k
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